
UCSB Math Camp - Constrained Opt. (Class) Summer 2020

Example: Use Kuhn-Tucker to solve, where px, py,m > 0:

max
x,y

xy s.t. m � pxx+ pyy x � 0 y � 0

Lagrangian:

(i) FOCs:

(ii) Constraints:

(iii) Complementary slackness conditions:

(iv) Non-negative multipliers:

1. No constraints bind

2. The budget constraint binds

3. x � 0 binds

4. y � 0 binds

5. Budget constraint and x � 0 bind

6. Budget constraint and y � 0 bind

7. x � 0 and y � 0 bind

8. All constraints bind
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UCSB Math Camp - Constrained Opt. (Class) Summer 2020

Example: Use Kuhn-Tucker to solve, where px, py,m > 0:

max
x,y

x+ y s.t. m � pxx+ pyy x � 0 y � 0
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